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1. The question paper is in the form of test booklet. Al candidates will be assessed on identical
questions.

2. A separate OMR answer sheet is provided to all candidates for answering.

3. Each objective question is provided with a text and/or figures wherever applicable with multiple
answer choices (A), (B), (C) and (D). Only one among them is correct and most appropriate answer
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4. Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on
OMR sheet and marking the most appropriate answer.

All objective type questions carry equal marks of THREE for a correct answer and One third negative
mark will apply for each wrong answer.

6. Multiple answers for a question will be regarded as a wrong answer.

7. Although the test stresses On accuracy more than speed, it is important for you to use your time as
effectively as possible.

8. Do not waste time on questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

Space available in the booklet could be used for rough work, if required. No separate sheet will be
provided.

11.  Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance
sheet. Candidates should sign against their names only.

12. At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet should be handed over to the invigilator and shall not be carried by the
candidate under any circumstances.
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01.  ag ®la-ar Tfa %,mﬁ%mmemwwﬁﬁﬁwm#%m%ﬁ(ﬁkaq)m

T 3 IRl ah qgiﬁ-‘r H | g1l & Memories in which any location can be reached in
a fixed (and short) amount of time after specifying its address is called

A 3TThiAS HTReT THfd/sequential-access memory
B. Iefes iffers TAd/Random-access memory
C.  gfadr wxfa/Secondary memory

D. faqer fd/Mass storage

02. QY ISl &l AT FT a’rs?raﬁém?ﬁéqﬁwaﬂ?ﬁ%, o a®r 3R forahr 3% e sieRor

TRaT STATE / The register which holds the address of the location to or from which data are
to be transferred is called

A.  IH GSfl findex register

B.  37sICRI USi finstruction register

C. I 9aT 9oi /memory address

D.  &7fd 3er usft /memory data register

03. _ﬁ?_%@ﬂéﬁ%%@ﬂ@mﬁwﬁwwmﬁmm%ﬂ memory

bus is mainly used for communication between

garfeT 3k ¥AA / processor and memory

TR 33K 1/0 gi#d / processor and 1/0

1’0 ﬂ‘f#{ﬁﬁiﬁ/ I/0 devices and memory

fraer gfea 3k Pt IfFA / input device and output device

o w>»

04. %w@mﬂaﬁﬁrﬁmﬁarﬁ%ﬁwmﬁmaﬁmmﬁmm%wmﬁ
sa%waﬁﬁaﬁméaqwqméamﬁmmm%?/m which

o

addressing modes the contents of a register specified in the instructions are first
decremented, and then these contents are used as the effective address of the operands?

I TAMHITHT /Index addressing
R8T TATETHT /indirect addressing
¥a<: 9fg /auto increment

FAd: &4 /auto decrement

0w >
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v9sT & #1=/Question Booklet Code A

05. lOog=Fad 3R UTCd &let & 916 e T Taheh/The CPU after receiving an interrupt
from an 1/O device

A. mg‘%craﬁwaaﬁ?%awwﬁﬁawaamél

hands over control of address bus and data bus to the interrupting device

B. U qd RuiRd §&% & foIv &6 ¢

halts for a predetermined time

C. e eI AT FEIT T UG AT ¢
branches off to the interrupt service routine immediately

D. aﬁma@erg@ﬁ%mmﬁwwﬁwammﬁl

branches off to the interrupt service routine after completion of the current instruction

06. FETATR &  H-Y TR B U 7 Icadd T A FHTET ST &?/Which of the following
applications are best handled in ROM?

TT&a daa=1/Storage of protected

3eUehiTole Gad+A/Storage of temporary
Tienar Gaa=A/Storage of the operating

HaH FHAGY FeI=1/Storage for microprograms

oo w >

07. 12 Ua oiSat 1 TEH FHI et FATaT & TAIHITHA T &TACT TWT & /A microprocessor

with 12 address lines is capable of addressing

1024 ¥U1-1/1024 locations
2048 TAUM1/2048 locations
4096 TYUI/4096 locations
64 K TU/64 K locations

o w>

08. Teafaf@d & @ &= doft FI= T Feards & I S & qd Aacl §2/Which of the

following registers holds the information before it goes to the decoder?

A. f@IFoT gSil/Control register
B. 3T Yail/Data register

C. FErH/Accumulator

D.

Tdr defi/Address register

(2 | | ot wmare (o Rt fwia 2016 - TSRS / Tech Asst (Comp Sci) Dec 2016 - IPRC |
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09.  3eT9ger@si/Data encryption

A.

ﬁﬁﬁummmsﬁm%mm%

is most used by financial networks

aﬂﬁaﬁémmmsﬁﬂmﬁmm%

is most used by public bill board networks

ﬁsﬁaﬂrwﬁmmaﬁmmm%

cannot be used by private installations

m%waﬁ%,ﬁ%%aﬁm:waﬁﬁmmmé

is not necessary, since data cannot be intercepted

10. 8 9= & T goar e SIS ST §/The parity bit is added for which purposes

A
B.
C
D

EIﬂBFf/coding
HdrhLoT/indexing

Ife We@=/error detection
HIAHUT/updating

1. UF Strershar #r gfeear F TR GE S B R & Ao WA % wwar
g/Devices on one network can communicate with devices on another network via a

O 0 w>»

WIS Hal/file server
YA TS utility server
X IRprinter server
dled/gateway

12, TR (qar @des HIcihren) &, /ARP (Address Resolution Protocol) is

A

wcﬁaﬁaeﬁmwaﬁﬁmwiaﬁmmqm@mmﬁm%l

a protocol used to dynamically bind IP Address to a low-level physical hardware
address

Wmﬁ?r@qairﬁwsﬂ%é?mwasﬁvwmmumaﬁm
a high level protocol for transferring files from one machine to another
HYERT FT Hieflex A & T SEATeT R STTYaTerT St

a protocol used to monitor computers

T T AT HerRiT b X707 et arerT SeerTen|

a protocol that handles error and control messages

[i?ﬁﬁﬁm(é?‘-‘q\a Fastrer) R 2016 - SR | Tech Asst (Comp Sci) Dec 2016 - IPRC ]
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13, Peaafad # @ Sl dermie th 70 T g F oo Ao Faell Pl 0T H &
T AT fohaT SITAT §2/Which of the following protocol is used for transferring electronic
mail messages from one machine to another?

A.  FTP
B. SNMP
C. SMTP
D. RPC

14,  BARRT § F Fi9-97 dedle gAI-9-3@n(@EEvd) & v surer Far Srar §2/Which of

the following techniques is used for Time-To-Line (TTL)?

A S dEdE ScaH-YITT Ul dat & Yehel & 3ed 91T & g3 & Toiw 91T fohaT Srdr

ZI/A technique used to best-effort delivery systems to avoid endlessly looping
packets.

B. Sl depsleh UF WieIshielt & W R SiaT & Taete T e Tl Wikl 3o T
JreThier & T2 THHR e § 3R 3T et T A & 3T HHET R I@AT §l/A

technique used by protocols in which a lower level protocol accepts a message from a
higher level protocol and places it in the data portion of the low level frame.

C. ﬁww@mwﬁ@maﬁmwﬁﬁmwﬁ%ﬁumﬁém
g IP ST T oTgeR Wel 3 fAsTsiet el § 9 Yer glarel st 7 | Teh| /One of

the pieces that results when an IP gateway divides an IP datagram into smaller pieces
for transmission across a network that cannot handle the original datagram size.

D. 3uded & 4 FefI/All of the above

15.  fandl 3USROT T IR TR W TF G ¥ HI€ A & [T el FegRT &1 HTaeeha

£?/Number of ports required for the connection of equipment at four locations to each other

is

A 3
B. 6
C. 9
D. 12

16. Peafafld 3 ¥ SI9-87 Al GHBITIS TaR WEThid sTal o ?/Which of the following is not

a standard synchronous communication protocol?

PAS
DDCMP
HDLC
SDLC

cow>
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7. T¥heT 1 AT §,/Buffering is

A I AR SR AR B AR 8 & I e w7 o7 H o 6y

gfsha/the process of temporarily storing the data to allow for small variation in device
speeds

B.  3MUTHTIE R3eToll ST et et &7 yRFaT /3 method to reduce cross-talks
C. o9 a% AR 31fergor & e SR =8 g, A9 dh HIROT ATEIH & 3727 22T &7

ﬁingUT/storage of data within the transmitting medium until the receiver is ready to
receive

D. 39R 3regATiOT F51 et i 9RRAT /a method to reduce the routing overhead

18.  H9R 3yl & g QeRTdcieht FET STIT §1/Multiple repeaters in communication
satellite are called

Tg=E/detector
U¥Tele/transponders
HT?F@/modulator
FAA/stations

O o0 w>»

19. ST FIRF A 31811111»-5 T JehI FAT §2/What function does a serial interface perform
in data communication?

A.  ShiH ST &I 47 3T Ghal & seaar g/converts serial data into audio data signals
B.  3I®T Hehel &l 3hT Hehel 3 FaldT & /converts analog signal into digital signal
C.  ZIT9a ST I T a1sew # 3R Ryeiora: seerar ¥ /converts parallel data into a stream

bites and vice-versa

D. 38 & @3l /all of these

20. ﬁﬁwg%%%nog%aﬁﬁa@ﬁaﬁwmﬁmmé,ag% I A

communication device that combines transmissions from several 110 devices into one line

is a

A.  digeh/concentrator

B.  3maitf®s/modifier

C. HedItm, /multiplexer

D. o7 geelerd engsi/full duplex line

Laa:ana?r e (FoeX faaimer) Rwiax 2016 - 3TN / Tech Asst (Comp Sci) Dec 2016 - IPRC | 5
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21.  DBMS & WaTelsT & a1 fohet a6 ®Iscll @ 39T AT JATar §2/Which two files are used
during operation of the DBMS?
A. BT HIVU g 393IfIdTi/Query languages and utilities
B. 3T Yeholel HTYT 9 g HAT9T/Data manipulation language and query language
C.  STI I g Sl Jelare/Data dictionary and transaction log
D. ST g JeoT $TT/Data dictionary and query language
22. 3 &2 a9 gidT &,/A race condition occurs when
A 9 g gl aifafaftl i oew T @ @aner & I g1 S/ two concurrent
activities interact to cause a processing error
B. oI &I DBMS 3Tl Uk &I T 3 & ffeeT WhIgell & AT WREWR fohar s/two users of
the DBMS are interacting with different files at the same time
C. (A)d (B)aHi/both(A)and(B)
D. SoH ¥ ®Is Agi/none of these
23. U 81d 8/Addresses are
A. T&IF hres/Numeric Fields
B. 3cr Hies/Data Fields
C. HaURS Hres/Relational Fields
D. UeW HIes/Alpha Fields
24. ot g UG 8¢T S F AT T ITANFAT Th §1 WA I UH 61 eI &7 ehcet HLell
TTE AT 3oTehT VAT et I fohdeh GaRT UehT ST §2/In @ multiuser data base, if two users wish
to update the same record at the same time, they are prevented from doing so by
A. FaTEsT/jamming
B. dr&ds/password
C. Yel@d/documentation
D. 3@ dfdirecord lock
(6 [ | e mgrs (@wex Rremme) Refas 2016 - T3 / Tech Asst (Comp Sci) Dec 2016 - IPRC
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25. aﬁﬁmm@a%%%%ﬁﬂm@wﬁ&raﬁﬁm%ﬁ/Ifafieldsizeistoo

small for the longest piece of data to be entered

3CT 99 AT BT §19T/the data base program will freeze
&1 ST T FaFAROT §MM/the field will automatically expand
SCT &1 Ueh 19T e STTTaT/part of the data will be cut off

SoIH I FIS oTgi/none of these

o w>

26. B U9 AiAd ey greasma fFaer 3eeIor £?/Student and courses enrolled, is an

example of

A. U — Teh &l Hat/one-to- one relationship

B. T — 3cish I HetT/one-to- many relationship

C.  3ieleh — Ueh &I HEY/ many-to- one relationship

D.  3eleh — 3eieh T Ha4I/ many-to-many relationship

27.  US — H - 3% & G Afed wforeher SeT ST F4T @1l £2/The logical data structure

with a one-to-many relationship is a

A.  SiTeIsh#H/network
B. litree

C.  #@di/chain

D. H&tirelationship

28. ﬁmﬁ%mﬁﬁaﬁﬁ%m%%aﬁ%m%ﬁwwﬁmﬂmﬁmm

£?/Which of the following hardware components is the most important to the operation of a
database management systems?

A. 37 fqfee dif$ar geel/High resolution video display

B.  {@fer W=ex/Colour Printer

C. 3= Ifd 3=u &THdT Tfshahl/High speed large capacity disk
D. HdI&H/Scanner

| TR TET (et RreTTeT) Rt 2016 - TSN / Tech Asst (Comp Sci) Dec 2016 -IPRC | | 7]
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29.

30.

31.

32,

E-R ufa®qoT dehetien----mm--—- & 1/E-R modeling techniques is a
A.  arE-greYeT 31TaeTH/left-right approach

B. #@-fa@ 3@ /bottom-up approach

C. TR-ure 39 H/top-down approach

D. 3«13 ¥ &S Agi/none of these

3T 9 Y oAl ol 35,27 T g?/Database management systems are intended to

3T ATARSFIT ol gell/eliminate data redundancy
A= ®Isdl & TRl & g d«er T FAT/establish relationship among

records in different files
32T WSl 91T IW=TT/maintain data integrity

o1 & @Y/ all of these

forelY segex & Yo udl @1 fafeder et & fAv 16 S &1 3ugter fhar Sirem g, adt

TET 47 813712/In a computer, 16 bits are used to specify addresses in a RAM, the number
of addresses will be

A.

B.
C.
D

256 x 256
65,536
64K

313 ¥ FIs/any of these

AT I Yol (THUAR) & HesT 7 shiel &1 e HET §?/Memory Address Register (MAR)

A.

$EH 37 T T & U §, ToleTeht qaeT AT HSROT fohdT STTeT & |
contains the address of the memory locations that is to be read from or stored into
I5 T BTSN Ifad §, S acidTet & fosurfee sreeet & wme &1 giad A&

is a hardware device which denotes the location of the current instructions being
executed

I e ool &1 ar |eE B, S Tfd @ oo el i fFsares g
is a group of electrical circuit, that performs the content of instructions fetched from
memory

So18 ¥ SIS gi/none of these

8|
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33. ﬁa@wﬁﬁaﬁﬁgawﬁmm%mﬁmaﬁmmé?mmch memory

system is not used as a mass memory medium?

A 3T FAfA/Semiconductor memory
B.  IahIT TEl/Magnetic tape

C. guh afsFart/Magnetic disk

D.  gahr grofiMagnetic drum

34, %wssamﬁﬁéamkqm*ﬁmmémﬁmwgﬁrmwéwwmtis

the total time to prepare a disk drive mechanism for a block of data to be read from it?

ST @lel/Latency

HEROT SHTel/Transmission time
Tt 3R 3t=awoT/Latency plus seek
AT STeT/Seek time

oo w >

35. 1M S1$T T 3cUe T F AT (256 K x 1 foe) 3maTT & fohaer Y7 Rt i smasgear
£2/How many RAM chips of size (256 K x 1 bit) are required to build 1M Byte memory?

A 8

B. 10
C. 24
D. 32

36. f=faf@g it & @ TR HTAITH 3T frgehr $2/Which of the following memories

has the shortest access time?

A. &Y EfA/Cache memory

B. gy 959g ¥Ad/Magnetic bubble memory
C. dhraHs THfA/Magnetic core memory

D. YHA/RAM

37 wﬁzq\ﬁﬁm%a@wm%ﬁwﬁmﬁ‘@aﬁﬁmmﬁmmm%/me

bit full adder can be designed using

ar 318 Hehereh 3T Tk 3T A1/ Two half adders and one OR gate
&l 3T Heholeh/Two half adders

U TFH-3{R T &Y 45 Ae/One EX-OR and two NAND gates

al TF-3iR T IR #¥5 e/ Two Ex-OR and four NAND gates

o w>»
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38.  udmaeEs ¥AMA & foU 3T Sl & a6 aR9Y Hr 3UIET &4er?/Which Logic Circuit would

you use for addressing memory?

A.  qUT Heheldh/Full adder

B. agﬁa?ﬁa/lvlultiplexed
C. fa=s®/Decoder
D. el i 3rfereT gRu/Direct Memory access circuit

39.  Tag-TralTq IR & waeT fraes Torw fRam S dehdT §2/A Flip-Flop circuit can be used for

A.  JTUTeT/counting
B. HMU=/Scaling
C. uReles/Rectification
D. faATge=/Demodulation
40.  3faRed At 9T &1 3T weh, Ao Feg-TFallT # ¢l ST ehdT §/Using an

additional NOT gate, a JK flip-flop can be converted into

& TeTg-FeATa/T flip-flop

IRTH TFAT-Fa1a/RS flip-flop

gerreT 37T [FeTg-Feita/Master slave flip-flop
&Y foera-wrarra/D flip-flop

oo w >

41. IS HUF HT 3YRNT Fgl T IeY Thele & TT fHAT ST § 2/The break statement is used

to exit from

g 91T A/a do loop

P TTer ¥/a for loop

8T 2T W/a switch statement
o7 I T/all of these

oo w>»

42.  C#HA Tl I o fay gaeh v gid £7/C contains two special pointer operators

*T&/*and &

*g && /* and &&
& T && /& and &&
% 9 &/ % and &

oo w
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43.  AEY () fhuhT 3807 §2/Main () is example of

A, dTSsRY yeRY/library function

B.  3udlerar RN YehRi/user defined function
C. ofNf¥i/header

D. &Ys/statement

44. Sl TR FI HATGR & INEH Tolter AR AT @ & 37T T T ST 2/ Variable that are

both alive and active throughout the entire program are called

A.  TYAT Tlocal variables

B. oISt T/private variables

C. Egdifeld Iautomatic variables
D.

A1aT3e T/global variables

45.  'C' # frdY off aeafds Tear #Y sufaes & HIAT ST §1/By default any real

number in 'C' is treated as

Falc/a float

Sdel/a double

19T E9e1/a long double

319 oI TAT o 1 92T A & 3aR ek aar ¢/Depends upon memory model

that you are using

o w>»

46.  'C' A #H, FEeRie sl IRAMNT &aT 2/ a 'C! program, constant is defined

A.  FTI & Ygal/before main

B. HTA & de/after main

C. =gl &, afhed a8 e W E3TCT gl/anywhere, but starting on a new line
D. o1 & &3 =18l /none of the above

47. IRy quiieh g 7 § @, Fefafag & @ ety 3Tt & TR S 3 * (y - 8)/9 3K (y -
8)/9 * 3 AT Hed &37/f y is of integer type, then the expressions 3 * (y - 8)/9 and (y - 8)/9
* 3 yield the same value if

Ife y FHTEAT Yy is an even number

Ife y faws @&AT 8lly is an odd number

e (y - 8) 9 T qUTih IIfOTT 81/(y - 8) is an integral multiple of 9
I (y-8)3 W{Uﬁmiﬁﬁe’r/(y - 8) is an integral multiple of 3

oo w >
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48. 'C' HARES A &F FATaf@d FHRET # & e qAeT e qoiies Fhrdt & AT g

g2/Which of the following operators in 'C' programming language takes only integer

operands?
A+

B. *

c. [/

D. %

49. AF@T 'C' 379@s FT FeId FAT §2/What is the output of the following 'C' fragment?
for (i=1)j=10;i<6; ++i, -j)
printf("d%d". ij);

A. 11029384756
B. 12345109876
C. 1111199999
D

3s78 § @IS Aa1 / None of these

50. C #, 3T ®Isaat [ ] T 99T [FEe fRar SI1ar §2/In C, square brackets [ ] are used in

A. o=l #/Functions

B. Wl #/arrays

C. Y=l H/statements

D. s & @sil/all of these

51. TeAiaf@d & @ Hlef-ar Freer 3genia Sar HAY i fAsures FHdr §?/Command to

execute a compiled java program is

A. javac

B. java

C. run

D. execute

52.  SITdT 3eJHTNe AT AT §?/The java compiler

forsdTe &1 FoteT Ll Zlcreate executable

SITAT IS I SIS SIS H AR Tl g/translates java source code to byte code
a1l T FoleT STl o/Creates classes

ST fAdTes T 3cuTesT ST g/produces java interpreter

oo w >
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53. fa=fof@as OOP FATRIT 71gT &/Which one is not supported by OOP

A. 3T/ Abstraction

B.  sg&MAdI/Polymorphism

C.  "Yes/Encapsulation

D. @& W/Global variables

54, SITET hATCRT HH 1 E2/java programs are

CelewhTa Hdat/platform dependent
fdereh AdaTiinterpreter dependent
Tl fAdeT/platform independent
o= R9eT/interpreter independent

o w>»

55.  [Udel 1 yRafARcT e & T Srar fohErehT 3UNT e £2/java uses - to represent

characters

A.  31FT HIS/ASCII code

B.  IelreIs/Unicode

C. dIgc &Is/Byte code

D. 5H & #1S AT /None of the above

56. dHvcamR faF e aw (THSITCH) &7 Ugell =ROT £ /The first step in software
development Life Cycle (SDLC) is

A T 3fAweus/System Design

B. 9rafA+ &g ug faeewoT/Preliminary investigation and Analysis
C. ®Is/Coding

D. T W&Tol/System testing

57.  AICICISY T AT & £2/What is 3 Prototype?

[EcGiok el oY 9fd%q/Mini-model of existing system

&S o &1 oY ITA®9/Mini-model of the proposed system
facga= J= &1 wriery FTA®a/Working Model of existing system
$oTH & FI5 8T /None of these above

o w>
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58.

§9.

60.

a7 R F W 301 (HaTcHs Yehel ol A1 FT § ForaeT 319aTm3iT & SR aF # aear
ST ¥ 3k oraeT ada @eus Aoy U 3udiedT % ST Hfewdee wR GanT far ST

2/An interactive process of system development in which requirements are converted to a

working system that is continually revised through close work between an analyst and user
is called

STerard 9fa®aor/Waterfall modeling

31T foharcaes 9iawquT/interactive Modeling
it 9fa®auT/Spiral modeling

S8 & IS 7T /None of the above

oo w >

HISHIAT caRT fATad da FaT Hisd-AT 8/Which webserver is developed by Microsoft

A. QU @Fde/Apache Tomeat

B. @ifeg#/Caudium

C. gecdeic Fael WAl (3TS3msud)/Internet Information Services (I1S)
D. d9Re&/WEBrick

ASP ST 3eorlIeT 3 DLL Wrgel T $SRUT shel fohar STTaT §? / In ASP .Net application DLL
files are stored in

A. U9 @RIZ/App-code

B. U9 3er/App-Data

C. .f&=/Bin ‘

D. U9 T« §atY=T/App-Local Resources

54
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ISRO PROPULSION COMPLEX
’ Mahendragiri

Written Examination for Selection to the Post of
Technical Assistant (Computer Science) — Post Code:019
vide Advt. No.IPRC/RMT/2016/01 dated 05.08.2016

ANSWER KEY

Buestion Booklet Code A

| Q. No. Ans, Keﬂ Q. No. | Ans. Key Q.No. | Ans.Key
01 B 21 C 41 D
02 Cc 22 A 42 A
03 A 23 D 43 B
04 A 24 D 44 D
05 D 25 Cc 45 B
06 D 26 D 46 Cc
07 Cc 27 B 47 Cc
08 B 28 Cc 48 D
09 A 29 Cc 49 A
10 C 30 D 50 B
11 D 31 D g1 B
12 A JZ A 82 B
13 C 23 A 53 D
14 A 34 Cc 54 Cc
15 D 35 D 55 B
16 A 36 A 56 B
17 A 37 B 57 B
18 B 38 C 58 Cc
19 Cc 39 A 59 C
20 Cc 40 Cc 60 C
o
PS:-  Any objections/queries in the Answer Key may be sent through email to

career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



